Suggested Problems (HW2B)
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©12-213. The man pulls the boy up to the tree limb C by
walking backward. If he starts from rest when x4 = 0 and
moves backward with a constant acceleration a, = 0.2 m/sz,
determine the speed of the boy at the instant yg = 4 m.
Neglect the size of the limb. When x4 = 0,y5 = 8 m,so that A

and B are coincident, i.e., the rope is 16 m long.
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©12-225. At the instant shown, cars A and B travel at
speeds of 70 mi/h and 50 mi/h, respectively. If B is
decreasing its speed at 1400 mi/h? while A is increasing its
speed at 800 mi/h%, determine the acceleration of B with
respect to A. Car B moves along a curve having a radius of
curvature of 0.7 mi.

va = 0N g v = 50 mi/h

Probs. 12-224/225
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12-219. The car is traveling at a constant speed of
100 km/h. If the rain is falling at 6 m/s in the direction
shown, determine the velocity of the rain as seen by the

driver.

v¢ = 100 km/h

Prob. 12-219
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©12-229. Two cyclists A and B travel at the same constant
speed v. Determine the velocity of A with respect to B if A
travels along the circular track, while B travels along the
diameter of the circle.
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12-198. If end A of the rope moves downward with a speed
of 5m/s, determine the speed of cylinder B.

Prob. 12-198
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12-203. Determine the speed of B if A is moving
downwards with a speed of v4 = 4 m/s at the instant shown.
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#12-208. If the end of the cable at A is pulled down with a
speed of 2 m/s, determine the speed at which block E rises.





